50% 1000 , 14 65%
1000 , 21 50% 1000
> 1.4
5 19 , s
250ml s s
K TR TR A& s
: (65% ’ ’
WP )s (50% WP ) 2
, 0.965%
3.367%; , 1. 427%
1 3.627%.
1.1 50% ( )s ’
65% ( ). , , 3
1.2 « 704 4
1.3 s s 7 14 21
6. Sm. 2m, 13m>, RAR oo o
4 D 65% 1000 1 0.965 1.249 2.303 3.367
1) H 0 ’
2 1.427 2.161 2.495 3.627
4 7 . © 50% 1000
4 - ® 50% 3 1.111 1.972 2.029 1.759
1) ) ° 0
1000 , 7 65% 1000 , 14 4 1.067 1.617 1.918 1.676
50% 1000 .21 65% 4
1000 . 65° 1000 7 ' '
@ % : 3 7 1.972%
2.029%, ,
4 509
% 21 , 1.759%; 4
em
gmd  x 12 3 4 5 6 % y y=atix v 7 1. 61774 1. 91874
S0 379 45 48 5.0 50 5.1 55 49 .37 S.58 .21 1. 676%.
2560 3.408 4.1 44 4.0 41 3.8 42 410 45.5% 4.895
1280 3.107 3.6 35 3.4 40 40 42 3B L0 4.1 ’
640 2806 28 27 3.0 22 3.6 32 292 34 4.335 3
320 2.505 25 23 23 20 24 22 2 2537 4380 y=—3.188 0.832
160 2.204 1.8 17 1.6 14 2.0 18 L.72 19.07 4.p54 +2.509x 3‘ 1
80 1.903 0O 0 0o 0 0 0 o0 0 0
40 1.602 0O 0 0 0 0 0 O 0 0
0 L0 0 0 0 0 0 0 0 0 0 3.2 ( )
0 0O 0 0 0 0 O 0
V=5 .x=3.2658 EDso=1844. 45¢/ m? -
y=6.2816, x= 3. 7772 EDy,=>5988. 34g/ m> ’
y= 6. 6449, x=3.9222 EDys=8361. 53¢/ m3 |
. 5 ' '
5 s s 43 V”
50% 1000 65%
mp | 23 pg | 23 ppg |23 1000 , 10 ,
1 = 3.685012. 74 0.9144 141525 4148.46 5627.09 50% s
2 y=3405+2.672¢  0.88 41890 1.0 48120 103 8495 L04
3 y=—3.1838+2.500% 0.832 184.45 1.3 5W83H4 1.4 86L3B 149 3‘4 28 , 6 7 ,
5 ’ .
> > s EDso
1415. 25.1418.90. 1844. 45¢/ m®
1, 1.3 ( 810016) ( 150030)
32 (, .125) , Northem Horticulture



